
-v_ ;~rfng cjlw tLg jif{ JotLt e};s]sf] cj:yfdf ljut tLg jif{sf] / tLg jif{ JotLt e}g;s]sf] 

cj:yfdf ;+rfng cjlwe/sf] n]vfk/LIf0f ePsf] gfkmf gf]S;fg, jf;nft ;lxtsf] ;+lIfKt ljQLo ljj/0f -

;xfos sDkgL eP ;dli6s[t ?kdf_M 

jf;nft 

                                                           /sd -?=xhf/df_ 

 

ljj/0f cf=j 2072/73 cf=j 2073/74 cf=j 2074/75 

z]o/k"hL tyf bfloTj 
    

z]o/ k'+hL 7,32,535 1,000,000 1,000,000 

Clu\d z]o/ k'FhL 700 - - 

hu]8f sf]if / ;+lrt gfkmf (11,894) (21,035) (33,903) 

    
 

dWod tyf lb3{sflng C0f bfloTj   
 

;"/lIft C0f 542,441 1,737,261 2,544,927 

c;"/lIft C0f   
 

Rffn' bfloTj   
 

ltg{ afFsL sf/f]af/ 61,152 47,033 86,697 

5f]6f] ;doalws C0fshf{ 199,996 140,655 304,969 

cGo rfn' bfloTj 63,053 1,800 102,256 

hDdf z]o/k"hL tyf bfloTj 1,587,984 2,905,714 4,004,946 

 l:y/ ;DklQ   
 

l:y/ ;DklQ 11,402 26,057 22,266 

cb[Zo ;DktL 87 84 81 
kl/of]hgf leqsf] lgdf{0fflwg cb[Zo 

;DktL (IAUD) 1,146,879 2,438,608 3,534,692 

;xfos sDkgLdf nufgL  50,000 50,000 50,000 

 gub tyf a}+s df}Hbft 1,140 41,985 646 

 cGo ;DktL 3,78,475 3,48,979 3,97,260 

hDdf ;DklQ 1,587,984 2,905,714 4,004,946 

 

Plss[t jf;nft 

                                                           /sd -?=xhf/df_ 

ljj/0f 
cf=j  

2072-73 
cf=j  

2073-74  
cf=j  

2074-75 

z]o/k"hL tyf bfloTj     

z]o/ k'+hL 73,2535 1,000,000 1,000,000 

Z]fo/sf] clu|d e'QmfgL 700 - - 

hu]8f sf]if / ;+lrt gfkmf (12,062) (21,281) (34,227) 

dWod tyf lb3{sflng C0f bfloTj 

 
  

lb3{sflng C0f 542,441 1,737,261 2,544,927 

c;"/lIft C0f 

 
  

rfn" bfloTj 

 
  

Jofkfl/s e"Qmfg 61,264 47,060 86,734 



5f]6f] ;dojlw C0f 199,996 140,655 304,969 

cGo rfn' bfloTj 63,123 2,030 102,553 

hDdf 1,587,997 2,905,725 4,004,956 

;DklQ 

 
  

v"b l:y/ ;DklQ 63,887 93,201 89,408 

cb[Zo ;DkQL 87 84 81 

kl/of]hgf ljsf; vr{  1,146,879 2,438,608 3,534,692 

 gub tyf a}+s df}Hbft 1,145 41,990 651 

cGo ljlQo ;DkQL 16,435 11,076 5,083 

cGo rfn' ;DkQL 359,563 320,766 3,75,040 

hDdf ;DklQ 1,587,997 2,905,725 4,004,956 

 


